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Name: ....................................... . 

Second Year - JUNE 2017 
SAY/IMPROVEMENT 

Time : 2 Hours 
Cool-off time : 15 Minutes 

'-
Part - III 

GEOGRAPHY 
Maximum : 60 Scores 

(Map to Accompany) 

General Instructions to Candidates: 
• There is a 'cool-off time' of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool-off time'. 
• Use the 'cool-off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the same 

question itself 
• Calculations, figures and graphs should be shown in the answer sheet itself 
• Malayalam version of the questions is also provided. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

mlmat]<m~<io : 
• m1rog1~ CTUrllm>CTmr>1m~ n.J606)rll 15 rll1m1g~ 'c:0,lcm 630n..O~ 6)6)S0' g26l1sOm5101c06>6o. 2)2'!> 

CTUrllm>CTmr>~ (]!l..l0B16ID3ci8c06>~ g2CTmr>0o nq)\P6(0)0(]ffi0, rllm~ru06fZIOm51 ®Q)(R)CD> ru1m1rllm>o 

msCTmr>O(]ffiO n.JOS1~. 

• g2CTmr>06ID3ci8 nq)\P6(0)6cm@1m~ (2}6(llj~ (]!l..l0B16ID3ci8 ®®On.Jl©<Jdo ruom>1c06>6mo. 

• nq)~O (]!l..l0B16ID3ci8c06>6o g2CTmr>0o nq)\P6(0)6ll)o. 

• 6306 (]!l..l OB 1ffiCTlJ© g2CTmr>06) rll\P6®0® 6) (0)06)6llmY>S6CTmr>6 cfu\P16llmY>Om8 g2n.J(]!l..l OB 16ID3~6o 

(Glo(](O) (]!l..] OB 1 ffi(llj 01 m8 ml cm~ (0)6) cm 6) (0)06) 6llmY>S6 (]c06)6l1s (0)06ll)~ 

• cfu6mc06>~ cful§ 8..1 6c0,ci8, !l..l1 (.®6ID3ci8, (.(1) on..06c0,ci8, n© cm1 ru g2CTmr>0a;n.J7d01 m8 @6) cm 

g26l1s om5101 c06>6mo. 

• (]!l..l0B16ID3ci8 rll8..ICD>O~CTmr>18..16o m~1m51§66l1s~ 

• (](.n.JO(.(f)OfZl6cfuci8 6)!1..l~omoc:0,oCTmr> c0,om8c06>6a;8..lgo6c0,ci8 63W16)cfum>6~ 6306 

g)28..lcfu~(](.S06m1cfu~ g2n.Jcfu06mOJ6o n.Ja>lcfu910o..00~1m8 g2n.J(](D)0(1)1c06>60JO® n.JOS1~. 
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1. (i) Non-conventional source of energy 

(a) Coal (b) Solar Energy 

(c) Petroleum (d) Natural Gas 

(ii) A nuclear power plant in Maharashtra 

(a) Narora (b) Tarapur 

(c) Kalpakkam (d) Kota (Scores : 2) 

2. (i) Define the concept of age structure of population. 

(ii) Name any two types of population pyramid and the countries represented by 
them. (Scores : 3) 

3. Complete the given table : 

Inland waterway Linking places 

(i) Danube waterway 

(ii) Interior USA with Gulf of Mexico 

(Scores : 2) 

4. Classify the following towns in India based on their period of evolution : 

Allahabad, Jaipur, Mumbai, Jamshedpur (Scores : 2) 

5. (i) A sub-field of Economic Geography 

(a) Population Geography (b) Historical Geography 

(c) Urban Geography (d) Agricultural Geography 

(ii) The approach in Human Geography which was spread during 1930's 

(a) Aerial Differentiation (b) Regional Analysis 

(c) Radical Approach (d) Humanistic Approach (Scores : 2) 

6. Match the following items based on India's population growth during the last century: 

A B 

1921-1951 Population explosion 

1901-1921 Steady population growth 

1951-1981 Stagnant population growth 

1981-2001 Gradual decrease in growth rate 

(Scores: 2) 

7. Write briefly on the objectives of Drought Prone Area Programmes launched in India. 

(Scores: 2) 
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1. (i) 6306 n.J00CT1J(]01®0 g2'!>©'i:9@:W(.CTU0®9rls~ 

(a) c0,amc0001 (b) (n)'!) (]0 om~ 0 

(c) 6)n.J(](.S0~1 m>o (d) (.n.Jcfu~(0)1 OJO(O)cfuo 

(ii) rllo..0000(.~m516)8.J 6306 ®Q)6mOJ m18..lm>o 

(a) ma;ooo (b) @00oruiro 

(c) cfum87,:jOcOOo (d) (]cfuO§ (acwommr : 2) 

2. (i) mmcruo6lJ1m>66)s (.n.JOm>ne.Jsm nq)cm ®Q)(R)CD>6)CTmr> m1<n<Jd!l..11c006c0,. 

(ii) nfil6)@ffh18..16o 06l1s6 @0CTmr>18..16~ mmcruo6lJp n.J10rll1CW6cfu~6o ffiloOJ6)CD> 

(.n.J@1m1W°lcfu01c006cm 00m16ID3~66)S (]n.J0~ nq)W6®6cfu. (acwommr : 3) 

g2u7>mosct3 @.leJn.JO® 611Jffi.l)l 7,:Jl <96>l cm cru..o ei 6ID3® 

(i) cwom1i6nl m8..ln.JO® 

(ii) mlo (] rll01cOOCD)66) s g2UO (.n.J (]B(R)6ID3UO 
(2}6(0)m8 6)fZl~1cOOo8 g2uoc00sm8 (lJ6)0 

4. (0)06)\!l 6)cfu0S6CTmr>101~6cm g)2m5)1® ffi(f)06ID36)~ mlo0JCD>66)S n.J016mOrll cfu08..lne.J§6ID36)~ 

m1oslrru.oom0oc001 ®0o @101~6c0,: 

mlo8..lo..0611.JOB~ mm>~n.Jl©, (2}606)6)611.J, moo9:1(U)~iro (acwommr : 2) 

5. (i) cruo0io..07c0, rsifZl1(R)O(.ClJ?CTmr>16)16306 g2n.J(]fZl6lJ8..I 

(a) mmcruo6lJp rsifZl1(R)O(.OJ?o (b) !l..101(.@ rsifZl1(R)O(.OJ?o 

( C) ffi0(1)01cfu rsifZl1(R)O(.OJ?o ( d) 0omrulc0, rsifZl1(R)O(.OJ?o 

(ii) 0omrulc0, rsifZl1(R)O(.OJ? CTUrllln.Jffi6ID3~1m8 1930-am (.n.J!l..10l~106cm CTUrll°ln.Jmo 

( a) (.n.JO(]B(R)1cfu 6)6)0JOJ1W 10 (b) (.n.JO(]B(R)1cfu OJ1(R)cfu8.Jffio 

(c) n.J6(]00(f)(l)ffi(lJ0B CTUrll°ln.Jmo (d) 0omrulc0, cruriiln.Jmo (acwommr: 2) 

6. cfuW16llmn mmo6l1s16)8.J g)2m5) 1® mmcruo6lJp OJ~ffi~6)CD> ®0o;BBrllOc001 (0)06)\!l 

6)cfu0S6CTmr>101c006cmOJ6)CD> (]!l..106on.JS1 (]!l..lffi6)CTmr>W6®6cfu : 

A B 
1921-1951 mmcruo6lJp OJ1CTU~(]nLl0Sffio 

1901-1921 rru.oom>1m>om> mmcruo6lJp ru~ro~ 

1951-1981 m1CJIDJ8..lfZIOm> mmcruo6lJp ru~ro~ 

1981-2001 mmcruo6lJp ru~ro~om10c001m8 (.cfu(](l)6ll)(D)6~ cfu60(lJ~ 

7. g)2m5)1m5]6)8.J OJ0UO~ 611.JOW1@ (.n.J(]B(R) n.JIW@1cfu~66)S 8..lcEM116ID36)~c00601~~ 6306 

ru10J06mo (0)~000c006cfu. (acwommr : 2) 
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8. Complete the flowchart based on the classification of industries : 

Cottage 
Industry 

Size 

Classification of Industries 

9. Analyse the sources of air pollution in India. 

Private 
Sector 

(Scores: 3) 

(Scores : 2) 

10. (i) The language family belonging to the speech areas of Tamil Nadu and Karnataka. 

(a) Dravidian (b) Austric 

(c) Sino-Tibetan (d) Inda-European 

(ii) A Kharif crop 

(a) Cotton (b) Wheat 

(c) Fruits (d) Barley 

(iii) Leading producer of coffee in India 

(a) Karnataka (b) J ammu & Kashmir 

(c) Rajasthan (d) Gujarat (Scores: 3) 

11. Differentiate between Bilateral and Multi-lateral trade. (Scores : 2) 

12. Suggest any three methods adopted for rainwater harvesting. (Scores: 3) 
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8. (lJ 1 (lJ cru OCD>6ID3~ 66) s (lJ mrai cfu(t)6ll)6) CTmY) crui!l..117,:J1 ~iwm (]o£j O !l..l orof n.Jl© CTmr>1 (D)0c06)6 cfu : 

ru 1 OJ01)000)6lffi~J6)5 ruro@cfu@6Yno 

9. g)2m5) 1 m5l 6) 8..1 (lJ Om>6 rll 8..11 cr5l cfu06ll) CTmr>16) 1 (](_(n)O(O)m 6 cfu6)~ c06)60l~,.r ru1 (R)cfu 8..1 mo 6)!1..l ~ 6 cfu. 

(acwommr : 2) 

@O<rl:1 Ocfu6S6o6llJCTmr>1 m86)7,:JS6cm6 ? 

(a) (.Bo.1lCW1m>o8 (b) ®0 (. CYB1 cfu~ 

(c) cru1 a;m o-@16llJ CTmY> o8 (d) g12a;cm)o-m>ia;ooru1o8 

(ii) 6306 6lJOa>1n..0~ ru1~ 

(a) n.J06CTmr>1 (b) (](f)0(0)(llJ~ 

(c) n.J\Jl(lj ©~6ITT3ci8 (d) 6llJ0©8..11 

(iii) g)2m5)1CD>1m8 cfu07,:j1CD>66)S g2~0BffiCTmr>1m8 rll6cm1m8 m1~6cm CTUorru.oOmo 

(a) cfu©6JJlOScfuo (b) mfifll6cfuOCIJl°l<n 

( c) 0omrru.ooo8 

11. g2@CD>cfucEM11 rupn.J006)CTmr)(D)6o 6llJo..06cfucEM11 rupn.J006)CTmr)(D)6o (](ljffi(0)1016)~\!)6(0)6cfu. 

(acwommr: 2) 

12. 0w6)ru~ 6)cfuom>~CTmr>1mom51 crujlcfu01c06>6cm nfil6)@ffh18..16o 0icm~ roi@1cfuci8 m1roa;g(R)1c06>6cfu. 

(acwommr: 3) 
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13. (i) 

(ii) 

Bokaro steel plant was established in collaboration with 
(a) Germany (b) Russia 
(c) France (d) China 
Software Technology Park in Rajasthan 
(a) Jaipur (b) 
(c) Kanpur (d) 

Gandhinagar 
Indore (Scores : 2) 

14. (i) Mention in brief about any two economic factors influencing the distribution of 
population. 

(ii) 'Migration leads to redistribution of the population within a country.' Substantiate 
the statement. (Scores : 5) 

15. The given map represents the distribution of an agricultural crop of India. Identify it 
and mention its geographical characteristics. 
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13 . (i) 6) 6llJ 0c06) 0(]0 0 2)20 6(llJ 606 c06)~ CR) 08..1 (!2)6 (l) om>1 (n)o..0cfu06ll) CTmr>1 m8 nfil©6) 7,:J§101 ~wm 
ru1a;B(R) 0om10 

(a) mrofifllm1 (b) OITl:11 
(c) (.o..Ooo8cru~ (d) 6)6)!2Jffi 

(ii) 0omrru.oom16)8.J 6306 a;cruoo..0g6'lrum>ro 6)Scfu~a;mo~@il n.JO<nc06>~ 

(a) mm>~iro (b) (J)OmD1 m(J)ro 

(c) c0,06mn.Jlro (d) g12o8a;cworo (acwommr: 2) 

14. (i) mmcruo6lJp ru1@06m6)CTmr> cruJowlm1~6cm nfil6)@ffh18..16o 06l1s~ CTUOCTlJCTmr>1cfun.J0fZIOm> 

neJ Scfu6ID36)~c06)6 ol~r nq)\Jl6 (0")6 c0, · 
(ii) 'cfu6s1a;m>go 6306 0om1CTmr>16)1 mmcruo6lJ16)(D) ®o@1m6~1m8 n.J6mroru1m1cru1c06>6cm6.' 

2)2'!> (.n.JCTJ?OOJffi6)CD> CTU0Wlcfu01c06>6cfu. (acwommr : 5) 

15. @cm101~6cm rsin.JsCTmr>1m8 crui!lJ17,:Jl~101~6cm c0,oroo9:11c0, ru1~ nfil6)@cm~ cfu6)6l1sCTmr>1 
mlo @16) 1 Csl rll1 CR) 0 (CTJ?n.J 0 fZI O CD> cruru1 (] (R)ITl:1 @cfucm nq)W 6@ 6 cfu. 
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16. (i) Sadiya-Dhubri Stretch of National Waterway in India is 

(a) NWl (b) NW2 

(c) NW3 (d) NW4 

(ii) An International Airport of Andaman-Nicobar Islands 

(a) Nagpur (b) Port-Blair 

(c) Calicut (d) Coimbatore 

(iii) A quinary activity 

(a) Consultants (b) Transport 

(c) Communication (d) Trade (Scores: 3) 

17. Identify the agricultural system shown m the map of the world and mention its 

characteristic features. 

(Scores : 4) 

18. Prepare a flowchart based on the communication based tertiary activity. (Scores : 2) 

19. Analyse the problems associated with urban settlements. (Scores: 3) 
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16. (i) cruoBlm> 06@m8 w6(.6llJ1 ru6)0m>6~ a;B(R)°lm> m8.Jn.JO® 

(a) NWl (b) NW2 

(c) NW3 (d) NW4 

(ii) ®0 ®CU) 00 o8-m1 a;c00 o6llJ om B Jl nJ ~ cru rlll o..0CTmr>l 6) 8..1 6306 ®ocm) 000 (.~ rul fZI om CTmr>oru~ o 

(a) mO(f)~lm (b) (]n.JOmf GJ;MCD>m 

(c) (]ahOW1 (]c000S~ (d) (] aho m>CTlJ CTmY) i m 

(iii) 6306 ah1imol (.n.J(lJmCTmr>mo 

(a) g2n.J(]B(R)ah® (b) (f) (0) 0(1) (O)o 

(c) ru om CTmr>Orul ml rll m>o (d) ruo6lnlm10 (acwommr : 3) 

17. @cm101~6cm (]8.JOah@ln.JSCTmr>1m8 crui!l .. fl7d1~101~6cm ahOmITl:11ah CTU(.CTlJBOm>o nfil6)@cm~ 

ah6)6l1s CTmr>l ®o@l 6) 1 crurul (](R)ITl:1 (0) ahem nq)W6 @ 6 ah. 

18. ru om CTmr>Orul ml fZI CD>6) CTmY> ®oS1 CTU.O Om6)7dS & CTmr>l m>6~ (0) ~ @°l CD> (0) 8..1 (.n.J rum CTmr>m6ID36)~ 

CTUl!1..fl7d1~6cm 6306 (]o£j0 !l..lOmf (0)~000c006ah. (acwommr : 2) 
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20. (i) List the four approaches of human development. 

(ii) Give any two reasons for low levels of HDI in most of the Northern State of 

India. (Scores : 4) 

21. Identify and locate the following in the outline map of India provided. 

(i) An administrative town and a city of Jammu & Kashmir. 

7029 

(ii) A coal field in Tamil Nadu. 

(iii) A major industrial region in Kerala. 

(iv) Headquarter of Western Railway. 

(v) A major inland port located on Hugli river. 

10 

(Scores: 5) 



20. (i) 0omrulc0, ru1c0,crumCTmr>16)1 mo8..r crurll°ln.Jm6ID36)~ n.J§1cfu6)7,:JS6CTmr>6cfu. 

(ii) rsi 01 @O(f) o 22 CTmY> a;0 cm) 1 o8 cru orru.o om 6ID3 ~ 66) s m> 6 o fZI o mru ru1 c:0,cru m cru i!l .. fl c0, 

@OW~cm m18.Jm>18.JO(lJ0ffi6~ nfil6)@ffh18..16o 06l1s~ cfu006m6ID3ci8 nq)\Jl6(0)6cfu. (acwommr : 4) 

21. @06)W7,:JOm>6cmru @101~o16lIDm~ @cm101~6cm g)2m5)1m>66)s rsin.JsCTmr>1m8 m1osm>o~-

6) 7i:J 5 2 CTmY> 2 c0, : 

7029 

(i) mfilll6 cfuOUJl°l016)8.J @06m CTU100(]cfu(.CT3fZIOCD> 6306 (.n.JWOffi ffi(f)0o. 

(ii) @rll1w~mo316)8.J 6306 c0,m8c0001 6lJm1. 

(iii) a;c0,0~CTmr>16)8.J 6306 066lJ1 ruprucruom>lc:0, (]fZl6lJ8.J. 

(iv) n.JCJIDJ1rll 6)0m51m8a;rum>66)s ®Q)rru.oomo. 

(v) o..0i~1 mB1m5lm8 rru.o1@1 6)!1..l~6cm 6306 (.n.JWom g2ci8moso8 @60066lJo. 

11 
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